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Questions 10.6 and 10.7 (page 50 and 51) 

These questions should be ignored as they are not on the syllabus.  

 

Question 11.1 (page 52) 

The incorrect option for gap 1 should say ‘period between cash being paid for non-current assets 

and cash received for sales’  

 

Question 12.1 (page 56) 

The question should say: 

ABC company employees are given 25 days of holiday per year. When they have served at the 

company for 5 or more years, they receive an additional 5 days leave per year.  

 
 

 


